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BRAR fizEstt PBBfEFHE
FH JALY IL—T 100%
FH ANAY )L—T 100%
FH AN 2T TR ZE 100%
FEB DEDI Y A AV 32%
51 JALY )L—T 99%
51 ANAS JL—T 98%
OEIEZEE
iR i Ze &1t PBB{f AR
FH JALT IL—T 100%
FH ANAY )L—T 99%
FH AN 2Ty TN ZE 100%
#51 JALY IL—T 95%
#51 ANAY )L—T 100%
OERELEHE
PR IR st PBB{F X
FH JALT IL—T 100%
FH ANAY )L—T 100%
FH AN b7V TN ZE 100%
FH AHM<I—9 96%
aak:il ANAY )L—T 100%
&R SIYrRBE— TRy 100%
F51 JALY IL—T 100%
F51 ANAY )L—T 100%

B4R izt PBB{#f A%
FH JALY IL—T 97%
FH ANAY JL—T 100%
FH ABAR—Y 93%
A= ANAS JL—T 100%
A= SIyRRBE— TN 74%
A IN=S5-TF 0%
&R JALY IL—T 93%
&R ANAY JL—T 84%
&R ANA#yb 7Y THRZE 98%
aakii PEDI Y A AV 47%
aakii AHL4I—Y 90%
#5 JALY )L—T 100%
#5 ANAG JL—T 87%
E3Fii] JALY IL—T 97%
E3Fii] ANAY JL—T 83%
E3kic] Peach*Aviation 0%
E3Fi] D G e T 51%
#HE AN 2yb 7Y THAZE 69%
#HE AHL<T—Y 54%
12 JALY )L—T 98%
& fif] ANAY )L—T 99%
f& b Peach*Aviation 0%
& fif] AHLI—Y 72%
= JALY )L—T 95%
=) ANAS JL—T 87%
RiE JALY IL—T 98%
RiE ANAY JL—T 89%
A AN #yb 7Y THRZE 78%




